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Basic Concept (el fgid)

Complex Numbers And Quadratic Equations

aftay FEATy vd g ariaor

=

1. i=4y—1;2=-1;3=—i;i4=1 etc (M) 10.  The multiplicative inverse of z=a + ib
2. For a complex number, z=a + ib _ 1 a— ib (i e.7 ' = 1_ z )
Where a+ib a2+b29 Pl Z |Z|2
. wherea#0,b#0
a = real part of z, Written as Re(z) 1 a—ib
b = imaginary part of z, Written as Im(z) z=a+ib T VD el = atib  a’+b>
z=a+ib Ve A F&T ¢ | 1z .
ot ﬂﬁ(z —;—W>G@Ta¢o,b¢o.
a = a8 WRAT z BT IRAfdd 9T 8idT & 3k 11.  Inaquadratic equation ax>+bx+c=0, wherea, b, ¢
fafde far siran —b+yb’—4
& Re(2) Q'RT gl € R, a# 0thenthe Solutionis x = 7a ac
b = s AT 7 BT PP 9T BT © AR .
5 Im(z) ERT R fra o 2| UFh fgaTd FHIERT ax? + bx + ¢ =0, 5Tl a, b, ¢ R
—b+yb'—4
3. Conjugate of a Complex number z = a + ib is ,a#0d B x = 7a T > gRT urd
defined as z=a—1ib 2 2|
. A z=a~—ib & 3 z=a-1ib Multiple Choice Questions
¥ gRyiYa o GﬂﬁT§| (qgﬁmtﬂ'qggq)
4.  Modulus of a Complex number z=a + b is defined 1 o=
— 2 2 *
as|z|=ya’+b 0 b1
A% HAT z=a + ib &I AU |z |=/a’+ b’ i d i
AT o I 2 | -3
2. (5i) 35 !
5. Ifz =a +ibandz,=a, +ib,thenz =z, < a = a -3 b, 3i
8, and b, =by c. -3i d 3
aﬁ{lea]-i‘ibGﬁ_\’Zz:az-i-ibﬂ_‘l_G[Z]:Zz(:)al 3. P+ 10 =
) 3R b =b, a. 0 b. i
lzP=z2 c. —i d 1
7. ztz,=z1t2, 4. i¥=
g e (£> _ 7 a. i b. —i
N A 1 d -1
9. The polar form of a complex number z=a + ib is 5 26 =
r(cosd + isind), Where r = /x*+y’ (Modulus of W b1
z) and cosf = % , Sinf = T (0 is called argument i d -1
of z) The value of 0 lies, —n< 0 < 1t is called the
principal argument of z 6. ('O + M+ + 1) =
AP HET z=x + iy BT AT T r(cosd+ isind) a. 02. 2‘ ’2
%\’Gi%wTr—\/x +y(zav‘rHTCﬂ"cﬁ)3ﬁ’\’cose—— e '
Sin0= = (0, z &1 PING HEeM £ 1) O FT AW, 7 I+ ST - 200+ 500 =
ﬁm@fé&—n<e<n Z BT UgE DITH BEd a. 1 b. —I
FHefT-11 (TIOTAD) —




c. i d. 10 ¥ HH A A UH FOMHS | &)
8. "= ( 1—i )
17. - |z=
a 1 b. -1 I +i
c. i d. —i a. 1 | b -l
_L 1
9. J=9x,/-25= ¢ 72 5
a. 15 b. -15 18. (1-i)'=
c. 15 d. -15i a. -4 b. 4
10. For any positive integer n, —(«/ —1 )4n+3 = c. 4 d. 4
4n+3 < .
—(v=1)""" =2 gl noHD Yoiis 2 | 19. Ifa+ib= /i: then the value of (a2 + b?) is
a. 1 b. -1 i
l. i uﬁa+ib=1/}:ﬁai(az+b2)$rqﬁ%:
1. /16 X /64 = a. 1 b. -1
a 32 b. -32 c. 2 d. -2
c. 3 d. 32 20. The smallest +ve integer n for which ( i i ; ) =1
12. Which of the following statements in Correct? is
. 5 _ o
Fresr 7 a1 A wor W e n,$maﬁﬂﬁaﬂmq\vﬁ$w<%f;> -1
a. (5+7i)>(3+4i) 5.
b, (5+7i)<(3+40)
. (3+5i)>(4+30) a. 2 b3
4. None of these(§TH I ®Ig &) c. 4 d. 6
13.  Which of the following statements is correct—? 21, 2-3iliesin [2 - 31').I ord 2]
e F @ @ a1 dod | 22 a. Quadrant I (/g 1)
a.  (2+30)>2-3i) b. Quadrant IT (E@QJJFET 1)
b, (3+2i)>(-3+2i) c.  Quadrant ITI (=gerfer 1)
c. (5+4i)>(-5-4i) d. Quadrant VI (IIgiter VI)
: fth I ' j
d. None of these(3TH | ®Ig 7T&I) 22, 11+_2il lies in (Rerd 2 1)
4. 3(7-7) + ".(7 +70) = . a. Quadrant I (TqIier 1)
a. 14 _141. b 20+ 211, b. Quadrant II (Irgeier 1I)
c. 14+ 14i d. 21-21i :
c.  Quadrant I (Tgerfer 1)
15 (A=H-(1+i6) = d. Quadrant VI (@gifer VI
a. 2-7i b. —2-7i - Q (ai )
c. 2+7i d. 2+7i 23. If(@@fe) x+iy= "C‘ T ;3 then (81 @) (x2+y?) =
16. If a and b are integers then «/E X \/B = \/% is a a’+b’
true only when T+
212
afE asi bar Qe & at va X /b = yab b LD
| BRI W19 2+ b
a. aand b both positives (a 3R b aFI g 2)) R &
b. aand b both negatives (a 3R b IFI FOMTHD d. None of these (3 & ®Ig &)
&) S b2 o 24. The Multiplicative Inverse of 4 — 3i is
c. aand b both zero (a b 3 B)
d. At least one of a and b non-negative (a 3R b 4= 30T LoD 9 il
WH&T-11 (MO (70
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a. 4+3i .. <21+1 >
4 3 13 " 13°
b. 3557 d. None of these (1 | ®Ig &)
c. %-ﬁ-%i 31. If (A@f}) 2+3i=x+iythen (& q) y=
. : .2 b. -3
d. None of these (34 & ®Ig &) Z 3 i 2
25. The Multiplicative Inverse of —i is 5 Jj9
—i BT U gfrentd 2 32. If (af) [ ayee =x-+iy then (81 ql)
a. -1 23
b. i a. XT5,yT 7%
c. 1 3 2
. . b X = ?7 y - ?
d. None of these (374 & ®Ig &) 2 ]
26. (1+i)'= ¢ XT5¥~3s
a. (2-9) d. None of these (71 & ®Ig 7T&I)
1,1
b (‘Tﬁ) 33 (1—/—-1)1+/=-1)5-v=-7)5+/-7)=a
( 1 1 ) 25+ 7i
“ \2 2! b. 32+5i
d. None of these (374 & ®Ig &) c. 29-3i
27. A-i?= d. None of these (37 & @IS 7T&)
(L _ 1*1') 34. Conjugate of —3++/—1is
474
1. 1. —3+y/—1 &1 wgHh 2
b. (—Z + Zl)
a. -3+ b. -3-i
1. 3 3 _ i
e (i) ¢ 2772 d =373
d. None of these (T8 ¥ B -T&I) 35. The Conjugate of #* is
28. (1-2)*= £ | =:
3 4 a. —i
& (f - f’) b. i
3 4 C. l'l/3
b. (_f+ 25! > d. None of these (7 & ®Ig 7T&1)
N (_2% _ %Z) 36. The Modulus of i is
: : | BT HIUTD ©:
d. None of these (374 & ®Ig &) ! | @ o
a. - .
29, (2-3i)(-3+4i) = . i 0
a. (6+170)
b, (6-17i) 37. The Modulus of 2 ++/—3is
c. (=6+17i) 2+ /=3 BT 9UI® &
d. None of these (374 & ®Ig &) a. 7 b. -7
30. (30— 5i)+ (<2 +3i) = c. V7 d. V=7
( 20 1 ) 38.  The Modulus of (3i — 1*=
EAVERN a 2 b. 4
21, 1, . —10 d. 10
b (53] ¢
WH&T-11 (MO —




39. If (af) 2+ (x+iy)=3—ithen (8, @) 48. The argument of (—y/3 +1) is
a. x=3,y=1 (—/3 +i) &1 Brvniss 2 |
b. x=4, y= -1 27 27
c. x=1,y=-1 a T3 b. 3
d. None of these (375 & ®Ig &) . St d _Sm
. 3 . 3
40. If (afe) x +4iy =ix +y + 3 then (&1 q) 49. The polar form of -2 is
a. x=4,y=1 2% g4 ®U 2 |
b. x=-3,y=-
c. x=-2,y=1 a. —2<cos% + isin%)
d. None of these (34 & ®Ig &) b. 2(cosm +isinx)
41. If (@) (1-ix+ (1 +i)y=1-3ithen (& a) c.  2(cos2r +isin27)
a. x=-2,y=1 d. None of these (S8 & ®IE 78
b. x=2,y=-1 50. The Polar form of —3i is
c. x=-2,y=1 | | -3i BT gda wu 2
d. None of these (34 & ®Ig &)
. a 3[cos<—l) + isin<—£>]
2. o= ' 2 2
I Bl T
1 _1. b. 3[cos< > )-I— zsm< > )]
a. 5 i
b, %-i—%i c. —3 cos<%>+ isin.<7zr)] .
d. None of these (E_rlﬁ q Zﬁ—sg '_‘lﬁ)
“ T - T 51. The Polar form of (1 + i) is
d. None of these (51 | Bz -5l (1 + i), BT gdiT ®Y B:
1.V
8. e (—§i) - o 2oos( Z )+ sin( 2
1 l
4. TH36 b — 256 b. 2[cos<%) + isin(%)]
1 i
¢ 256 d. 356 c. 42 cos<%> + isin<%)]
. 1 . .
44. (l37 X 17) = d. None of these (7 & ®Ig 7T&)
a. i b. - 52. The Polar form of (-1 —i) is
c. 2i d -1
(1 -0 &1 g wy ?:
45. n + n+1 + ln+2 + ln+3 ~
a. 2i b. 0 a. \FZ cos(—%)Jr isin(—%)]
c. —2i d 2 [
b. \/5 COS<—3T7Z. + lsm 3” ]
46. 1+t + 00— j1ov0 = :
a. 1 b. —i c. \/E cos(-zT” + isin 27” ]
c. 0 d -1 f
d. 2 cos(——>+ zsm( ]
47. The argument of —1 — ﬁ is
—1—z'f3wrﬁwi-c5%| 53. The Polar form of (\/7+l)
2 b 27 (V3 +i) @1 g ®u 2
3 3
/s T T+ in( £
¢ T d. -3 a. 2[003( 3 )+ lSlIl( 3 >]
FHefT-11 (TIOTAD) —=




b. 2[005(%) + isin(%)

c. 2[cos<2Tﬁ>+isin(2T ] 59. (sin120° —icos120°) ®T g ®Y 2 |
d. None of these (374 & ®Ig &) The Polar form of (sin120° — icos120°)
54. The Polar form of i is a. (cos60° + isin60°)
i BT g wy b. (cos30° + isin30°)
x x c. (cos150° +isin150°)
a.  cosy Fisiny d. None of these (37 & @IS 7T&)
b. cosrt +isint _ _
60. If(afe) z=(2+4/—5) then (8 @) |z|=
3z, .. 31w
c. Cosy + isin 3 a. 9
d. None of these (S8 & ®Ig a)) b. 7
55.  The Polar form of (—1 +iy/3) i ¢ 3
. e Polar form of (—1+ is . :
d. None of these Eﬁ I IS ol
(—1+iy/3) &1 gda wg 2 ( )
_ 61. If (ufQ) z=@Bi—1)then (B @) |z|=
a. 2(cosm +isinr)
a. 8 b. 10
T, .. T
b. 2(cos?+ lSll’l?) c. 4 d. \/B
2( 2i_|_ ol 2i> .q.h. — . gi- (_ﬁ- S —
c. cos 5~ +isin 3 62. If(afd) z=(3+y/2i) then (81 @) zz=
d. 2[cos<—2T”>+ isin(-zTﬂ)] a3 b7
c. 1 d. V11
56. The Polar form of (—1 — \/gl) 63. arg(l+i)=
(—1—y/3i)® gda sy 8| a. I b, %
T
[ c. o d 7
a. 2 cos(—%)-i- isin<—%)] 3 4
. 64. Ifzis a Complex number, then zz =
b. 2 cos(—z—ﬂ'>+isin<—2—ﬂ'> : : - _
| 3 3 afe 2z vqd aftws wwr 2, ¥ zz =
[ 3w\, .. (3¢ |z |
c. 2 cos<—7>+lsm<—7>] a. r
. 4 _ 4 _ b. |zF
d. None of these (374 & ®Ig &) c. [z
57. The Polar form of (1 —i) is d. None of these (S7H ¥ PIg =)
(1 -i) @1 gdia wy = 65. Square of a imaginary number is always.
a. ﬁ(cos%—isin%> BT Id AT BT 97 AT
- - a. Positive (I-TcH®)
b. \E[COS<_Z>+ iSin(‘Z)] b. Negative (FEUITcHD)
.. ﬁ(cos%-ﬂ'sin%) c. Nothingcanbesaidg{gﬁﬂﬁww HehTd)
: : d N f th ' '
d. None of these (&7 % #YE 7) one of these (&7 ¥ 13 )
66. Modulus of Complex number z = x + iy will
. o + . o . } }
58. The Polar form of (sin 30" + icos 30")is s WRT 2= x + iy BT AATD ST
(sin 30° + icos 30°) BT YA U & a /XY b J/X—y
a. (cos60° + isin60°) c. HYyxX+y’ d x*+y’
b.  (cos60° — isin60°)
FefT-11 (0T —=

c. (cos150° +isin150°)
d. None of these (S8 ¥ ®IE &)




67. The Value of i +# +i" + ' will be afs (1+i)y*+(6+i)=Q+i)x & @ xR y
i+ ®+ i + 15 BT AT BT ST A ST PN |
a. 2 b. 4 7. Find the modulus and amplitude of z=1 +i+/3
¢ d. 3 z=1+iy/3 &1 AP 3R BNH ST BT |
68. The modulus of — 1 a i\/§Will be 8. Express z =0 + 1i in the Polar Form.
—1—iy/3 1 wruie gh| z=0+ 1i BT AT TI [ATRT DI |
a. 2 b. 2 .
. 3 i 6 9.  Express —3 in the Polar form.
' ' 3 F1 AT B F wUART BN |
69. 1If 4x + i(3x — y) = 3 + i(-6) then the value of x
and y are 10. Evaluate ({9 9@1e) 4¢/—4+5/-9—-3/—16
f& 4x +i(3x —y) =3 +i(-6) & dl x 3R y @l Short Answer Type Questions
A BT | GESSHLCRES)
L 330 |
47 4 1. Find the modulus of ( s l. - 1;1)
b 3 33 —i 1+
T4 4 1+i 1-— ) S
33 44 (1 — T1+:)™ S AN |
C. 4 s 3 - . 1 T
d.  None of these (g7 3 ®Ig el 2. If _% = a+ib then show that a? + b2 =1
. 1 .
70. Con]lllgateOfMWlllbe fe 1+1—a+zb§TFﬁﬁ?§T@ﬁ5az+b2—l
7 &1 Gg¥ g \"
\6 - ﬁ i K 3. If { tl> = 1 then find the least positive integral
| :
a. %(\/E-i-\/gi) b. }T(\/E-I-\/Ei) vatue ot m
1+i )” _ _ -
e L/2-v2) 4 Y2-v20) Ui%(l_l. 1 1 m &7 =LAd9 Yoy A9 S1a
Very Short Answer Type Questions -16
@fa og ST 93) 4.  Convert the Complex number I J— to the
] ] Polar form !
1. Find the value of i 1. o .
i30T A fepTef | 7 1+,f 0 !
3 . . 3+2iSind .
2. Express (—i)(2i)<—1§i) in the form of a + ib. 5. Find the real value of 6 for which (W)
, purely real.
(—i)(2i)<—%i>ﬁa+ib$mﬁmaﬁ| 9%%3@%%13{(%)%%3%%
1 —2iSin
3. Express (1 +2i) in the form of a + ib &
(1+2ip P a+ibd BT § Fad N | Long Answer Type Questions
4. Find the multiplicative inverse of 2 — 3i (el sl we)
2 — 3 BT YUITHSD YT SiTd DI | 1. Find the real numbers x and y if (x — 7y)(3 + 5i) is
547 the Conjugate of —6 —24i.
5. Find the Conjugate of 1_72; e (x — iy)3 + 5i), —6 —24i BT FYH g dr
5442 _ aRcifac WY x SR y S B |
1=Va1 BT Y 1T BN | B
1= 2. If(x+ iy)3 =(a+ib) then  prove that
6. 1If (1+i)y’+(6+i)=(2+i)x then find the §+% = 4(a>—b?)
value of x and y.
WH&T-11 (MO —




ld

9.b

17.b
25.b
33d
41.b
49.b
57.b
65.b

DI (x+iy)%:(a+lb) g a g = b

THp 4G )
z—5i
f z+5i

z—5i
afe z+ 5i

T 2

I

= 1,show that z is a real Number.

Answer key SIXHTeIT

Objective Questions

(g ueA)

2.d 3a 4.a 5d 6.a 7b 8a

10.c 11d 12.d 13.d 14.a 15a 16.d
18.a 19.a 20.c 21.d 22b 23.a 24.c
26.c 27b 28b 29.a 30b 3l.c 32.c
34b 35a 36b 37.c 38.d 39.c 40.a
42b 43d 44d 45b 46.¢c 47b 48.c
50.a Sl.c 52b 53b 54.a 55c¢ 56b
58a 59b 60c 6l.b 62.c 63.d 64b
66.a 67.b 68.a 69b 70.c

Very Short Answer Type Questions
(erfa org Sag UeA)

We have
2
0 11 i
l =0 = w0 X7
1 1 1

We have

(—;')(2:')(—%:‘)3 = (- 2i2)<—51ﬁ)i3
— %f

The given complex no. is express as
256 1T 256

L 1 .

o Z— O + 256 1

A+2iY=0)Y+31)¢.(20)+3.1.2if +2i)
=14+6i+ 12+ 8

=14+6i—12—8i

=—11-2i

Let (A1) z =2 - 3i,

then (d9) z=2+3i

He&T-11 (oI

= 1dr fRwrsy & z U ardfdd

.". Multiplicative inverse of z (z BT OTHE Hfde™)

4z _ 2430 _2+3i_ 2 3
S Z _|Z|2_ =t

4¥9 — 13 13 "13l

Loty = 3TV2i _ 5420 1+12i
T =V2i 1=yY2i 0 1+Y2i
5 +5y/2i+ 20+ 2
B 1 -2/
_5+6y2i—2
T 1+2

:=§ii€?225==14—2¢5i

.. Conjugate of z = 1+2/2i=1-2y2i

Given that (f&=am B3T 2)
(1+iy*+(6+i)=(2+i)x

S (yP+6)+(y +1)i=2x+xi
Equating real and imaginary parts, We get

Sy +6=2x =Sy —2Xx=6........ D
and y’+ 1 =x
Solving equation I and II we, get

THHROT [ 3R 11 BT 8 B TR
x=5y=4%2

Given that (feaT 2)
z=1+iy3

|2l =y +(V3) =V1+3=/4=2
lz|=2

Suppose that (AT o)

Z:(l +\/§i)= r(cos6 + isinf)

= rcosd = 1 & rsind = \/5

. 1sinf _ ﬁ

“rcosp 1
= tanb = \/5

tanb = tan%

0= 3
coamp(z) = %
z=0+1i
Let (|M) z = (0 + 1.i) = r(cosd + isin0)
Then ()

rcos® = 0 and rsind = 1




10.

On the squaring and adding both side ,we get
(<Fl TW® G BR SIS WX UT Bl 2 )
r=1*=r=1:(r=|7|)

So that, cose = 0 and sin6 = 1

and (37R)

T

2
Hence, Polar form of (31cT: ¢d1a 0)

z=0+1.i= (cos%vL isin%)

z=-3+0.i
Let z=r(coso + ising) = (-3 + 0.7)
then (9)
rcosd =3 and (31R) rsino =0
ST TR% 9 X Siie] R W 86T 2 (Both side
Squaring and adding, we get)
rr=9=r=3
So that, 3cos6=-3 = cos6 =—1
and 3sind =0 = sing =0
S.0=x
The Polar of z=-3 + 0i = 3(cosn + isinn)
VARCIEAS)
We have

4y=4+5y/=9-3/~16 = 4y/4 + 5/97 = 3)/16/

=42i+53i—3.4i
=8+ 15— 12
=23i—12i=11i

Short Answer Type Questions
(e, S8 u¥)

Let (HrT)

:<1+i_l—i>
27\ 1+
_(A+iP-a—iy
(1= +1)
_(+it1=)0+i—1+i)
1
_22i _22i

“1+1 2 A
Modulus of z =z =42 =2
2. Given that (i3 a7 )
a+ib= itl
l
0 - _|_~2 .
Sat+ib= li’.xli’.: Wiy _1+i
l 1—i \/5
WHEMT-11 (TOTA)

. 1+i
=atib=
V2
+7 [Taking mod both side]
=lati]= fll l[cu-ﬂ X% HIS I W]

= £+ﬁ=7?m+1

a’+b’ =1
= a’+ b’ = 1 Proved

Given that (3T g2 %)

1+i\"_
(1—1')_1

1+i 1+ﬁ —q
1—1i 1+1

( 2 \m
(rEsey
(

(

=

11—

1+m—1> |

=

3 -

=

c. Least value of m =4

(m BT ~AdH 914 = 4)

Given that (f&=m gaTr 7)

—16 _  —16(1—iy3)
1+i/3 (1 +iV3)(1—iy3)
_16(1-iv/3)

1-37

z—mu—mﬁ)

—m =—4+443;

1+l\/7

Let (A1)

z=-4+4 \/§i= r(cos + ising)
3R) rsino = 44/3

.". cost = —4 and(
Squaring both side and adding, we, get

Ml 3R g PP Sl TR gH Ui el &
rr=16+48 =64
S.r=28
3

.. cosh = —% 2—15 and (3fR) sino = \/27
T _ 21

0= 373

. The Polar form of




He&T-11 (oI

- 16 _ 8(0052*7t + isinzl>
1+iy3 3 3

We have
‘We have,

3 +2ising _ (3 +2ising) _ (1 + 2isine)
(1 —2isine) (1 —2isin6) ~ (1 + 2isino)
_ 3+ 6isin6 + 2ising + 4i*sin’0
1 — 4i’sin’0
_ 3+ 8ising — 4sin”0
1 + 4sin’0
_ 3 —4sin’e i8sing
1 +4sin’0 1 +4sin’0
Now, it being real, we have

T RS BT, o9
8sing
1 +4sin’e
— 8sinp = 0

> sine =0

& 0 = nT, n€z

Long Answer Type Questions

(el ST geA)

Let (H1),

z=(x—iy)(3+5i)

= 3x + 5xi — 3yi — Syi’
=(3x+5y)+(5x—3y)i

.. Conjugate (Fg+40)

z=(3x+5y)—(5x — 3y)i

Also ()

z=—6—24i

So(Bx+Sy) = (5x —3y)i =— 6 —24i

On Equating real and imaginary parts, we have
qRfad T Bl IRT BT aRMER IR TR
3x+5y=-6 (1)

S5x -3y =24 (i1)
Performing (i) x 3 + (ii) x 5, We get

9x + 15y +25x — 15y =-18 + 120

= 34x =102
_ 102 _
X - . 34 a . . .
Putting the value of x in equation (i), we get

FHHROT (i) H x BT A I@H W)
3x3+5y=—6

Sy=-6-9=15

15
y=—¢="3
S.x=3andy=-3
Given (f&am %)

(x+iy)%=a+ib

> x+iy=(atib)
= x +iy =a’+3a’bi +3ab’i* +i°b’
= x +iy =a’+3a’bi — 3ab’ — ib’
= x +iy = (a’ — 3ab’) +(3a’b — b’)i
On equating real and imaginary part, we get
JIRIAd Ud HIdTd AT Pl aRMER B WX
x = a3 — 3ab? and(@R) y =3a%b — b3
§+% _a’ —a?aab2 n 3a2bb— b’
_a(@®=3b) , b(3a’—b’)

a b
=a’—3b’+3a°— b’
=42’ — 4b’

XY 212
..a+b_4(a b)

Let (A1)
z=(x +iy).
Now
z—5i
z+ 50
‘z—Si‘:l .
~lz+5i X
=|z—5i|=|z+5i|

=1

z
Zy

:|Z1|]
| 2, |

= |x+iy—5i|=|x+iy +5i

=[x +ily=3)[ =|x+i(y +3)f

=X +(y=5f=x"+(y+5)

> x +ty =10y +25 =x*+y*+ 10y + 25
SxX+y =10y +25—x"—y* =10y —25=0
=>—20y =0

=y=0

Hence z = x + iy = x is real number

A z=x + iy =x IRAAD AT 2 |






